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15, below (1.46) a±(k⃗ ) =
C(±ω(k⃗),±k⃗ )

(2π)2
√

4πω(k⃗ )
a±(k⃗ ) =

C(±ω(k⃗)/c,±k⃗ )

(2π)2
√

4πω(k⃗ )

30, formula for SNG −(ẊµẊµ)(X
′µX

′

µ) −(ẊµẊµ)(X
′νX

′

ν)

30, Exercise 2.2(a) dXµ(t, x)dXµ(t, s) = . . . dXµ(t, s)dXµ(t, s) = . . .

95, formula next to the last . . . = ψ(x′)† . . . . . . = ψ(x)† . . .

95, formula (5.27) . . . = ψ(x′) . . . . . . = ψ(x) . . .

97, the last formula ψ′
R,L(x) = P±ψ

′(x), ψ′
R,L(x

′) = P±ψ
′(x′),

104, 3rd line from the bottom anti-commutes anticommutes

118, 9th line from the top The functions hi(k⃗), The test functions hi(k⃗),

130, 10th line from the top ψ = γ0ψ† ψ = ψ†γ0

134, the first formula Σ3v
(±)
s (p⃗ ) = sv

(±)
s (p⃗ ) Σ3v

(±)
s (p⃗ = 0) = sv

(±)
s (p⃗ = 0)
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134, 3rd line from the top . . . the Dirac particle. . . . the Dirac particle at rest.

134, formula (6.80) (vϵr(p⃗ ))
†vϵ

′

s (p⃗ ) = . . . (v
(ϵ)
r (p⃗ ))†v

(ϵ′)
s (p⃗ ) = . . .

138, formula (6.94) 1√
n!m!

1√
N !M !

138, 7th line from the bottom . . . are absent. The . . . . . . are absent. Below we assume
that N ≥ 1,M ≥ 1. The . . .

138, the line next to the last
∑N

n=0 rn +
∑M

i=0 si
∑N

n=1 rn +
∑M

i=1 si

139, formula (6.95)
N∑
i=0

ω(q⃗i) +
M∑
j=0

ω(p⃗j)
N∑
i=1

ω(q⃗i) +
M∑
j=1

ω(p⃗j)

139, formula (6.98)
M∑
j=1

pk
M∑
j=1

pkj

155, formula in the middle

of the page dϕ̂I(t,x⃗)
dt = . . . ∂ϕ̂I(t,x⃗)

∂t = . . .

155, formula in the middle
of the page dπ̂I(t,x⃗)

dt = . . . ∂π̂I(t,x⃗)
∂t = . . .
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161, subtitle 7.2 . . . Functions: Wick. . . . . .Functions. Wick. . .

175, in all formulas
(
: ṼIg[β̃] :

) (
ṼIg[β̃]

)

193, formula (8.17) Aren
1 (

(0)2

k ) = 0 Aren
1 ((

(0)

k )2) = 0

198, Fig. 8.9,
the right leg of the graph little right-arrow little left-arrow

202, formulas (8.33), (8.34) coefficient λ2
0

12(2π)8 without this coefficient

213, 4th line from the top . . . the pair (λ0,m2
0) . . . the pair (λ,m2)

234, formula (10.14) Ũ(σ0, L(Λ)a) Ũ(σ0, L̂(Λ)a)

234, 3rd formula from the bottom
∂L(Λ)νµ
∂ωρλ

= . . .
∂L(Λ)νµ
∂ωρλ

∣∣∣∣
ω=0

= . . .

237, 3rd line from the bottom . . . which eiχ(Λ) = 1. . . . which one can
choose eiχ(Λ) = 1.

316, Fig.13.4(a) p+ g p+ q
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